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QUESTION 1

A customer is using EVPN to maximize their Data Center Interconnect and provide a stretched Layer 2 network to
support VM mobility. What are two benefits in this scenario? (Choose two.)

A. Load balancing is used across the WAN per flow

B. Layer 2 MAC tables are populated using the control plane
C. Load balancing is used across the WAN per packet

D. Layer 2 MAC tables are populated using the data plane

Correct Answer: AB

QUESTION 2

You are designing a Layer 2 fabric implementation for a small data center and have chosen to implement a Virtual
Chassis Fabric. You must accommodate two racks of servers with 1 Gbps connectivity, 10 racks of servers with 10
Gbps connectivity, and maintain a single management interface.

Which device would satisfy the requirements in this implementation?

A. QFX5110

B. QFX10002

C. EX4600

D. EX4300

Correct Answer: A

QUESTION 3

Which two statements about data center design are correct? (Choose two.)

A. The most efficient traffic flow pattern is 50% east-west and 50% north-south.

B. A data center that provides hosted services should scale based on customer demands.
C. A multitier design provides better performance as the number of applications increase.
D. An application may query several resources in response to a single user request.

Correct Answer: BD

QUESTION 4
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Which two statements are true about IP fabrics? (Choose two.)

A. IP-based applications do not require an overlay network to maintain connectivity.

B. Applications that require security needs an overlay to provide the security.

C. Applications that require Layer 2 adjacencies require an overlay network to maintain connectivity.
D. IP fabrics can natively support both Layer 2 and Layer 3 applications.

Correct Answer: CD

QUESTION 5
Click the Exhibit button.

Referring to the exhibit, what must you change to make the topology a supported Virtual Chassis Fabric design?

Spine Routing Engine

#

[ T]\
Leaf | ] 11 | 11 ] 1 1 ¥ |

Line Card Line Card Line Card Line Card

A. Change the Routing Engine to a line card.

B. Remove one leaf node.

C. Add a second spine node.

D. Change one of the line cards to a VCP master instance.

Correct Answer: C
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